Gears

1 turn of the small cross causes ____turns of the large cross.
1 turn of the large cross causes ____ turns of the small cross.
Direction of turn of large cross compared to small cross: ________________________________________________________________________________________________________________________________________________________________________Speed of large cross compared to small cross: ________________________________________________________________________________________________________________________________________________________________________Amount of effort to turn large cross compared to small cross:
________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Draw a diagram of a cog and label the main parts:
